
Gas TG25DV Traditions

ITEM NO DESCRIPTION

25025 (*1) Frame, Glass  
27M81 Gasket Kit, Glass (10' of 10580 window tape. self adhesive)
25026 (*2) Glass, 17 9/16 x 18 1/8" (Gasket not included)

25064 (*16) Burner Tube Assembly (w/ bracket)
25034 Orifice, Burner Natural #37
25093 Orifice, Burner Propane #52
75L1201 Orifice, Pilot (#51) - Natural Gas - Fits pilot P/N 42M2101 (new style) - see notes. ***
75L1301 Orifice, Pilot (#35) - Propane - Fits pilot P/N 42M2201 (new style) - see notes. ***
45143H Orifice, Pilot (#51) - Natural Gas - Fits pilot P/N 45059H (old style) - see notes. ** 
45144 Orifice, Pilot (#35) - Propane - Fits pilot P/N 45063H (old style) - see notes. **
18081 Piezo Igniter, Push Button
42M2101 Pilot Assembly, Natural Gas (new style w/detachable pilot hood.  Fits all revisions of this model.  

Replaces P/N 45059H.  Pilot includes pilot tube) ***
42M2201 Pilot Assembly, Propane (new style w/detachable pilot hood.  Fits all revisions of this model.  

Replaces P/N 45063H.  Pilot includes pilot tube) ***
28M08 Pilot Tube (includes fittings)
45135 RB Regulator, 1.7 to 3.5" WC - Natural Gas (Controls flame height)
45136 RB Regulator, 6.3 to 10" WC - Propane (Controls flame height)
H0251 Remote Control, Deluxe w/thermostat, radio frequency (98K99, 3001)
H0249 Remote Control, Standard, on/off,  radio frequency (26N04, 40025000, 25050)
410-270 Switch, On/Off (Burner)
32041 Thermocouple, 24" w/ brass threaded retainer (for securing to pilot bracket) - Units manufactured > 

3/99
49119 Thermocouple, 24" w/o threaded retainer (provided on pilot bracket).  Units manufactured < 3/99
18050 Thermopile, 24" w/o threaded retainer (provided on pilot bracket) - Units manufactured < 3/99
89L36 Thermostat, Wall, MV (10N64, 18120)
52L05 (*9) Valve, SIT Nova Natural (25060)
10850057 *(9) Valve, SIT Nova Propane (25070)
25095 Wire Harness, Burner
25068 (*11) Wire, Igniter (16")

14M41 (*4) Blower Assembly, Room Air
26M22 Power Cord
14440 (*3) Rheostat, Dial -A- Temp
18125 Sensor Kit, Room Air Blower (thermally activates Blower)

LENNOX HEARTH PRODUCTS
Service Replacement Parts List

TG25DV
Gas, Direct Vent, Cast & Enamel, Legs, Freestanding

MODEL YEARS:  1997 - 2000

Door Parts

Gas & Electrical Parts

Room Air Blower Parts (Optional Kit)

G55

www.W
oodHeatStoves.com



Gas TG25DV Traditions

14M15 Conversion Kit, Natural Gas to Propane (65140) - Includes #56 burner orifice (requires drilling to 
size as specified on chart), #35 pilot orifice, RB regulator, and conversion label.

14M14 Conversion Kit, Propane to Natural Gas (65130) - Includes #56 burner orifice (requires drilling to 
size as specified on chart), #51 pilot orifice, RB regulator, and conversion label.

25021 Door, Valve Cover (does not include magnet)
25015 Gasket, Relief Door (1/4" Lytherm)
509 High Altitude Kit
26022H Paint, 1/2 oz. Black Touchup (Enamel Body)
26021H Paint, 1/2 oz. Green Touchup (Enamel Body)
26023H Paint, 1/2 oz. Sand Touchup (Enamel Body)
70K99 Paint, Black Metallic, 12-oz Spray Can #6309, 76-141MB
14M17 Paint, Ebony Black Pipe (Gas Only/250°F), 12 oz. Spray Can, 26016H
14M18 Paint, Hunter Green Pipe (Gas Only/250°F), 12 oz. Spray Can, 26015H
14M19 Paint, Mojave Sand Pipe (Gas Only/250°F), 12 oz. Spray Can, 26017H
25022 Ring, Flue Restrictor (1 each)

25020 (*10) Brick Panel Set, Blond
25121 Hardware Kit, Burner Assembly (2ea log positioners, 1ea 1/4-20 nylon lock nut, 9ea 10-24 zinc nut)

25101 (*5) Hardware Kit, Firebox Assembly (4ea Front Hanger, 4ea 1/4" washer, 4ea 10-24x3/8 screws, 2ea 10-
24x3/4 screws, 3ea #8x1/2 screws, 4ea 10-24x3/8 screws, 4ea 1/4x1" elevator screws, 4ea 1/4-
20x3/8" wing screws, 6ea 1/4-20x1/2" screw, & 2ea 10-24 nuts)

88L53 Embers, Glowing, 1 oz. Bag (order a minimum of 4 for maintenance needs)
25030 (*) Log Set (includes glowing embers)

*** Fits pilot assemblies w/detachable pilot hood (there is a visible clip on the body of the pilot hood which must 
not be removed when installing pilot orifice).
** Fits pilot assemblies w/o a detachable pilot hood (the pilot tube fitting requires removal to install.  Body of 
pilot hood does not have a visible clip).
* Number in parenthesis cooresponds to component diagrams on following page(s).

Miscellaneous Parts

Firebox Parts 

Logs

� Includes thermocouple, thermopile, pilot orifice, pilot tube and igniter electrode. The igniter wire, P/N 25068, is not 
included.

G56

www.W
oodHeatStoves.com



Gas TG25DV Traditions

G57

www.W
oodHeatStoves.com




